p ZIEV
1. 30K f(x) =3x%24+2x2 —4x+5,9(x) = 2x3 +3x — 4, 4#(x) = x* —3x3 + 2x%, K
a. f(x)+gx)
b. g(x) — 4(x)
c. flx)—gCx)+ 4x)
2. 30K f(x) =3x*+x2—-1,g(x) =2x3+4x? +3,K
a. 2f(x)
b. flx)g(x)
c. 3xf(x)+2g(x)
3. Kxtth 4%
a. (x+3)CBx*+2x3—4x2+x—-1)
b. (x2+3x—-1)(2x3—x?2+3x+2)
c. (x*+2x3+4x?—x+1)(2x3 +5x—3)
4, Baef(x)=x*—3x3+2x2+5x—1,g(x) =4x>—3x3+2x+1,4x) =2x3+x?>-1,K
a. f(2)
b. g(0)
4(3)
f(=1+g()
g(4) —2/4(1)
f. f(=3)+3g(=1) — 54(5)
5. B4ef(x)=x>+x-3,gx)=x3—-x+2,%
fx)g(x)
xf(x) —2g(x)
3f(x) +x*g(x)
4f(x) — x3g(x)
[f ()% + 2xg(x)
- L9 = [f (0]
TG 4
. (x—3)(Bx% + 2x% — x + 4)[x?]
2+ x + D+ 4x - 3)[x3]
. (%% = 5x +2)(x* — 3x% + 1)[x*]
d. (2x3 —x%2 + 1)(4x3 + x + 3)[x*]
e. (x%+3x—5)%[x?]
x(x% + 1) (3 + 2x — 1) [x*]
7. ax?+6x+5+x+1
b.2x3 +x%2+5x—4+2x—1
C.4x*—3x>+x+2+x-2
dx3+6x—2+x2+x+1
ext +2x% — 1+ x%(x —1)2

fa4x* +3x>+x+2+-(x—-1Dkx+1)
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